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MASTER OF COMMERCE 
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o MCO-01 ORGANISATION THEORY AND 
BEHAVIOUR 

Time : 3 hours 	 Maximum Marks : 700 

Note : Answer any five questions. 

1. (a) How are bureaucratic forces of organisation 
distinguished by the structural and 
behavioural characteristics ? 	 10+10 

(b) Discuss the criticism of bureaucracy. 

2. (a) Discuss the individual perspective of 
organisational behaviour. 	 10+10 

(b) Explain the small and large group 
perspective of organisational behaviour. 

3. What is stress ? Discuss the techniques used for 5+15 
managing the stress. 

4. (a) Describe the barriers to accurate perception. 

(b) How can you develop the perceptual skills 
in an organisation ? 	 10+10 
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5. (a) Discuss the organisational determinants of 
Job satisfaction. 	 10+10  

(b) Explain the techniques employed to 
measure the Job satisfaction in an 
organisation. 

6. Explain various conflict resolutions strategies 	20 
adopted by an organisation for restoring high 
performance of the employees. 

7. (a) Describe the stages for the development of 
group. 	 10+10 

(b) Explain the factors which influence the level 
of cohesiveness of a group. 

8. Write short notes on any two of the following : 10+10 

(a) Managing organisational change 

(b) Culture - person compatibility 

(c) Inter - personal conflict 

(d) Models of men 
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